
s{en.'r sqaroft
(Survey Questionnoire)

lqrfilrr{ iFT;TfJf: qqi+':

lfredql, Ertict: g{ttlrdlfid€qr' I pnradt'ritrr:

qtd6Tarfr qrsorffi'

rlfrsrqtr+ts
3fl-dr$rq n Eqrqrt*.! lnrmr.tcw ! Rr€?q ,gert-a n

3va qrrtffi-5 gfum'n

ildr$ arFrrra ra
(3r{eTrJr -t 3sa[

n s-ff t crfi €I rnqffi
(3r{e{rrr -2 srrdl)

T
3FFTrrr -1

drd srtftfi fd

IR6I

gTfrffl+a rtd

lfd6l

crfr SITulaar sE616 f ffi

frdf €t 3TF{tr
3rr1ffi + Eit

rrn frrrq
st{ E'3ri'
tfi-tanker
qrfi-ftdraa

q3Tr4 -2

Ttrd cnrft-o qtd

IRF]

3rfrk+-d qtd

Fsl

crfr fi uJorc-mlsraro tr Raa-i
Rdt fi'I3lr$t

3n{ffi t Eit

szf{M +tsd€
lrrr4rq 6rqqq
qgffi qfil t ffi
3Tr1frf
3fFt[ r

dl-qrq ffi rit-qrilq n €q.{Ifun {iqraq fl uau rllara-+ n sd fr sfi.b Tl

rrrs ffi ril-qrcrq sr 3q-qtrr f f iqTETq"r-*,  LJr-- . l*-- . ,  L- l  |w* =

rrn wqqrR-+'/ qdrsT rifqwq sT 3qqtrr +Irrdrd n I guan
grrR g& jl qfrE al5s +'frq +,'Rq I
rffqrcq t E* vr+qt ,
T5f r tT5r6t {T{ I  I  -
qft-.mittWfrTst
T€dtSgsrm.t$TEI

5qs6#ftgsr+t$1w

${"rdratJrtt W *t$ gqt
i  :a. : .

I

{4m Aqvrst'^*1
eavrl 4/'u-''-

"6il%/ - ' \  \1.-- I  Irr\^r,\)dl 
Ln, lu

/ t  - t

w\l {La? .-1 | ,.4' -t <l-*4W"
qt{"6t"t- 

*t't*
"  

'  i i ' : i i ' '  n '

ptr><--z




